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Question Number : 1 Question Id : 7715133881 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a. IR dd U 9 @I geH

Removal of water from crude oil

b, HUNEPd dq & TG b WY IR

Treatment of crude oil with water
c. Udid @l i ¥oI § QYR M
Improving octane number of gasoline

d.  Uelfcrm yueHl § FehR aYl Asclod @l geH

Removal of Sulphur and nitrogen from petroleum fractions.

Options :
1.a
2.b
3.c
4.d

Question Number : 1 Question Id : 7715133881 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a. OUN®d dd U WA I geH
Removal of water from crude oil

b. HURSH dd B 9d & Y IR

Treatment of crude oil with water
c. Ugld @l fide ¥oN § QYR aH
Improving octane number of gasoline

d.  Uclfcrm yueHl § §ehR aYl Aselod @ geH

Removal of Sulphur and nitrogen from petroleum fractions.

Options:
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 2 Question Id : 7715133882 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

w0 fadifsd ¢l RueeR ¥ I I Sa-wawn fifshar & R SUimu X, qur el 9w
‘v ¥ Yeld B 9 &1 T B

Select the straight line curve relating the conversion X, and the residence time ‘v’ for a zero
order liquid phase reaction in a stirred tank reactor.

Xy Vsint
Xal(l-Xa) Vst
Xa(1-Xa) Vst
XaVst

RS

Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715133882 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T facifsd @1 RUGR H 3@ DI Sa-Waw fihal & T SR Xy 71 e 3
‘v ¥ Gafid BOE I B T B

Select the straight line curve relating the conversion X, and the residence time ‘t’ for a zero
order liquid phase reaction in a stirred tank reactor.

a. Xa Vslnt

b. Xa/(l-Xa)Vst
c. Xa(l-Xa)Vst
d XasVst

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715133883 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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R G N BT 2 mol, THAT TU1 IshUI faRIR @Rd gL 300K W 25L ¥ 0L @l
frafa & uRafda g &, @ SoTelem g el & @ Radd g &2

What will be the change in Helmholtz free energy, if 2 mol of an ideal gas expands isothermally

and reversibly from 25 L to 50 L into a vacuum at 300 K?

a. 3458 Jmol!
b. 0 Jmol!

c. 864.5 Jmol!
d. 1729 Jmol!

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715133883 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R HGY Y BT 2 mol, THAW Ul JehHUI faRIR @Rd §¢ 300K W 25L ¥ S0L @l
faiq # uRafdd gl 81, T SRl qad Foil § 1 URGeH B 82

What will be the change in Helmholtz free energy, if 2 mol of an ideal gas expands isothermally

and reversibly from 25 L to 50 L into a vacuum at 300 K?

a. 3458 Jmol!
b. 0 Jmol!

¢. 864.5 Jmol!
d. 1729 Jmol!

Options:
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715133884 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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TS A 9 RO AU, 2A == 3B, WO & U & fo0 f6q1 oRadd qur Oof oRadq
& o THe A IR ... Gl

The fractional volume change for the system for an isothermal gas phase reaction, 2As==3B,
between no conversion and complete conversion is

a. 05
b. 1.0
c. 15
d. 0.66
Options:
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715133884 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS A 9 RO A, 2A == 3B, WK & o€ & fo0 f6q1 oRadd qur Oof oRadq
& o THe A IR ... Gl

The fractional volume change for the system for an isothermal gas phase reaction, 2As==3B,
between no conversion and complete conversion is

a. 05
b. 1.0
c. 15
d. 0.66
Options:
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715133885 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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o8 91 Sl (dG) & oY ada e Y dd BFdd Jay

Maxwell relation derived from the differential expression for the Gibbs free energy (dG) is

-G,

b (ar) ~ (aP)
av/s  \as/,
o (aP) _(65‘)
aTly  \aV/q
d. (ar) __(av)
oP/p  \ds/p
Options :
1.a
2.b
3.¢C
4.d

Question Number : 5 Question Id : 7715133885 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o8 qod Fal (dG) & oY Sav ofod U odd Head Tay ... .. gl

Maxwell relation derived from the differential expression for the Gibbs free energy (dG) is

()G,

b (ar) B (aF)
v/ \as/y
&6
arl,  \av/;
A
P/, \aS/
Options :
1.a

2.b
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3.¢C
4.d
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Question Number : 6 Question Id : 7715133886 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

diowdiar o R s vag oX 10 forew/ e dwr 0.3 e L sfiin e o ay afiipa,
Wl & AfeRS A 7 W BiiC 31§, P W g1 U i @10 % Uigdl 9@ B &
G R B GG

The reaction which is first order in reactant A is carried out in CSTR with constant volumetric
flow rate of 10 [/min and reaction constant of 0.3 min -. How much volume is required to reduce
the concentration of A into 10 % of the entering concentration?

a. 391 fac¥litre
b. 90 fe¥litre
¢c. 351 fac¥litre
d. 300 ferc¥litre

Options :

1.a

2.b

3.C

4.d

Question Number : 6 Question Id : 7715133886 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

dowdiem # R YA & 10 forey/fe qur 0.3 e - afishan Rl & ary arfigea,
ul fb AfERS A H TuH @I @ g, B Wl ¢l VAR s B 10 % Wl 6 Hokdl &
fo fora oI @1 SaRamd 87

The reaction which is first order in reactant A is carried out in CSTR with constant volumetric
flow rate of 10 [/min and reaction constant of 0.3 min -. How much volume is required to reduce
the concentration of A into 10 % of the entering concentration?

a. 391 fac¥litre
b. 90 fere¥litre
c. 351 faevlitre
d. 300 fer¥litre

Options :

1.a

2.b

3.¢C
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4.d

Question Number : 7 Question Id : 7715133887 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wud Bife offfpd & Ry SHeIR dEm ... ... & T B
Damkohler number for a first order reaction is equal to..........
a. kCaV
b. kV/Cxap
c. kt
d. kv,

Options :

1.a

2.b

3.C

4.d

Question Number : 7 Question Id : 7715133887 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uy Bife T & R SHPIOR dE ... & FAH B
Damkohler number for a first order reaction is equal to..........
a.  kCaV
b kV/ Cag
. kT
d. kv,

Options :

1.a

2.b

3.c

4.d

Question Number : 8 Question Id : 7715133888 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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aRMe o & BR @1 Ud T R ffRd, 660K W 15 e # 3R 330K W 30
firre , off & 8l (n(0.5)= -0.7)

Find the E/R in Arrhenius method if the reaction completed in 15 min at 660 K and in 30 min at
330K (In(0.5)= -0.7)

a.
b.
C;
d.

7

462 J/mol
450 J/mol
472 J/mol
470 J/mol

Options :

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 8 Question Id : 7715133888 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

aRMe o & BR @1 Ud T R Affd, 660K W 15 e # 3R 330K W 30
fire #, @ & &1 (In(0.5)
Find the E/R in Arrhenius method if the reaction completed in 15 min at 660 K and in 30 min at
330K (In(0.5)= -0.7)

a.
b.
C.
d.

462 J/mol
450 J/mol
472 J/mol
470 J/mol

Options :

1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715133889 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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250C ¥ 2 firefivfiex orryarel! e ey A dld, Ay 9y ¥ agd @l dR-4R Fdufd &l
T B FUAH & SRA 9d 31 AP § URAH 31 JUeT B o THar gl 25°C R H
THYH §id B FIERUEI, 11x 106 Hie/Aa08 1 GoHF SR Uid &1 79 Bx 107
HICYW®Ug 8, Wl B (UP GIad ®F @) ........ gl

A spherical naphthalene ball of 2mm diameter is subliming very slowly in stagnant air at 25°C.
The change in the size of the ball during the sublimation can be neglected. The diffusivity of
naphthalene in air at 25°C at 1.1.x 106 m¥sec. The value of mass transfer co-efficient is B x
10 m/sec, where B (up to one decimal place) is

a. 0.6
b. Ll
c. 18
d 5.6
Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715133889 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

250C # 2 frefiviieR ourarelt U ey Al dld, Fyd 9y § agd & k-4 Fdufia gl
%l 8 $UIGH & GRA 9d B Apld § UNadd o1 SUeT @ O T&dr ¢l 25'C Warg H
TPYe dd B RO, 1.1.x 106 He? /WS Bl FoUHH R0 UG BN HH B x 103
HIcY4PUs 8, gl B (I GUACE ©F T@) ........ gl

A spherical naphthalene ball of 2mm diameter is subliming very slowly in stagnant air at 25°C.
The change in the size of the ball during the sublimation can be neglected. The diffusivity of
naphthalene in air at 25°C at 1.1.x 106 m¥sec. The value of mass transfer co-efficient is B x
102 m/sec, where B (up to one decimal place) is

a. 06
|
c. 18
d 5.6
Options :
1.a
2.b

3.cC
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4.d

Question Number : 10 Question Id : 7715133890 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Joule Thomson co-efficient for an ideal gas is
a.  BUTHD/Negative

b.  HHIH®/Positive

c. IU/Zero

d. @4 W R gld GUBUIED T SHIED/ positive or negative depending on the pressure

Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715133890 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Joule Thomson co-efficient for an ideal gas is .........curvn.
a. BUIHD/Negative
b.  YIH®/Positive

4/ Zero

L]

d.  E& R FR §id GUBUIES A1 SHID/ positive or negative depending on the pressure
Options:
1.a
2.b
3.C
4.d

Question Number : 11 Question Id : 7715133891 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Poff@ fiwex 3 afiedy T uRadT a9 svm

Which of the following reactor will give maximum gas conversion
a. @R 3a RUdey/Fixed bed reactor

b. fawifed @l RuTe/Stirred tank reactor

c. ¥d-Td dd RUFR/Semi fluidized bed reactor

d. @ Y JaR®E RUdeR/Plug flow catalytic reactor

Options :
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715133891 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofefed Rt 3 sfiean T oRadd s v

Which of the following reactor will give maximum gas conversion
a. TR 9 RUFI/Fixed bed reactor

b. fdclféd ddt RUde/Stirred tank reactor

c. -md ad f@fﬁw Semi fluidized bed reactor

d. W YR 3aR®E Ruget/Plug flow catalytic reactor

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715133892 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TH i g &l ..., EISEEISIN

Builders are added in Soap to .............

a. HHGd HRAE ¥ YYR dH & U/ Improve detergent action

b. GEAET AN FR & TU § B I B iU/ Act as anti — re-deposition agent
c. YRV FRIYS & ¥U § W $E & U/ Act as Corrosion inhibitor

d. O UMD & ©U § BH & & U/ Act as fabric brightener

Options:
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1.a
2.b
3.¢C
4.d

Question Number : 12 Question Id : 7715133892 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TH i g &l ..., EISEEISIN

Builders are added in Soap to .............

a. HHGd HRAE ¥ YYR dH & U/ Improve detergent action

b. GEAET AN FRE & ®U § B & @ {0/ Act as anti — re-deposition agent
c. WU FRIYd & €U § W A b U/ Act as Corrosion inhibitor

d. T UHUS & ¥0 H oM & & feTu/ Act as fabric brightener

Options :
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715133893 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T ey W o i RR TW (C,) 7U1 R e (C,) H Ay Sl .. ... @1 UIH gl
For an ideal gas molar heat capacity at constant pressure (C,) and at constant volume (C,) are
function of

$aq &/Pressure only

$aq A/ Temperature only

a N b, THI/Bothaandb

d. SW& d U @IS ¥ TEl/None of the above

o o =

Options :
1.a
2.b
3.C
4.d
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Question Number : 13 Question Id : 7715133893 Question Type : MCQ Option >nhuftriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

06 e 19 & fon RR TE (C,) U1 RR e (Cy) # A el ... ... @1 Jb gl
For an ideal gas molar heat capacity at constant pressure (C,) and at constant volume (C) are
function of

dda Gls/Pressure only

$aq AU/ Temperature only

a 3R b, GHI/Bothaandb

d. I ¥ I @15 ¥ TE/None of the above

e o =

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715133894 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

d-Te@ Ui ¥ JuUNT U WAk faidge S ERueE: .. & I g4 |
Qi fobdl T gl

Zeolite used in water softening process is usually regenerated by washing with
a.  §lg/Brine

b.  TNHH/Chloramines

c. UIETH SEET/Sodium bisulphate

d. %4 FNEH/Liquid chloramines

Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715133894 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T-Teayl Wishdl § IUANT fbU THd faidiEe @l YR . .. @ Y 44 R

qior fd sl 2l

Zeolite used in water softening process is usually regenerated by washing with
. §Ig/Brine

b.  TiNHH/Chloramines

c. UiieqH TRYche/Sodium bisulphate

d. %4 @RMH/Liquid chloramines

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715133895 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

.........

PTn
b. (671[:')
Z on; PT,
¢ an
e (?H)P,T.nf
d. _ (6‘1151)
e i/ p 1
Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715133895 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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o oy # difd {  IEEES M B % ®Y H RMid fooar o1 w3

The chemical potential of species i in a mixture can be defined as

a. anG
(3

0/ prn,
b. (6nU)
i, P
C. anH
e (?H)P,T,nf
d. (6nA)
Hi= i/ ppn,
Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715133896 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R g YR b e UGl qul R Wide 19 fRie @ uleRfd &vd §, df ofehd du
..... gl

If @ and b represent Vander Waals coefficients and R represents universal gas constant, then
inversion temperature (T;) is
a. aRb
b. 2a/Rb
. Rb/2a
d. 2R/ab

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715133896 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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3R ¢ AR b I oiH a9 R Tldd N RRE &1 wofifa &d §, @ 9
..... gl

If a and b represent Vander Waals coefficients and R represents universal gas constant, then
inversion temperature (T;) is

a. aRb

b. 2aRb

. Rb/2a

d. 2R/ab

Options :
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715133897 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9d Ud 9% 3 e § §d ol Gy FWURA (Cpp) T 5288 99 o @ a6, R B
What is the molar heat capacity (Cp ) of water in equilibrium with ice? Assume the pressure is
constant.

a. 5021 kJK-lmol!

b.  3Hddl/Infinity

A4/ Zero
-50.21 kJK-mol-!

= 0

Options:
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715133897 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Wd U4 96 o SRR § §a 3 Ay SEERA (Cp ) ® 82T HE O B old, R 2
What is the molar heat capacity (Cp ) of water in equilibrium with ice? Assume the pressure is
constant.

. 50.21 KJK-Imol!

b.  3FddI/Infinity

A4/ Zero
d.  -50.21 kJK-'mol-!

L]

Options :
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715133898 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HRFHY 99 U / logk §M I/T &1 3, (-ER)e & IY W Wt W& <l gl
ERGI e ......... 2l

From Arrhenius law, a plot of Jog k versus 1/T gives a straight line with a slope of (-E/R). The
unit of E/R is

a. Cal

Cal/ K

K

Cal. K

B & O

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715133898 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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R Fam ¥/ logk S99 1T 1 3, (-ER) SR & 9N W@ U W ol gl
ER®I HE ......... gl

From Arrhenius law, a plot of log k versus I/T gives a straight line with a slope of (-E/R). The
unit of E/R is

a. Cal

Cal/ K

K

Cal. K

B & O

Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715133899 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P o e A 195 e ) 0 s 1 B 1 A e LA 1 e L G A
Trouton’s rule is the ratio of heat of vaporization and boiling temperature; is not applicable to
water because it is

a. 9 @R ¥ Gafd 8/Associated in liquid state

b. H'TY OH #&Hl ¥ e IR W 3MMA 8/Partially ionized to H* and OH- ions

c. U Thilad [dad §/A eutectic solvent

d.  dW 3§ ¥ Gai %fAssociated in vapour state

Options :
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715133899 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I3ed MM, A BN T B dU &I SFUE §; 4 9 & o A & i T .
Trouton’s rule is the ratio of heat of vaporization and boiling temperature; is not applicable to
water because it is

a. 9 R ¥ Gafld 8/Associated in liquid state

b. H'TY OH #&Hl ¥ e IR W 3MMA 8/Partially ionized to H* and OH- ions

c. U Tehiiad [dad §/A eutectic solvent

d.  dW 3§ ¥ Gafi %fAssociated in vapour state

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715133900 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

feedl o o W faaEs, ..., /In extractive distillation the solvent used shall

a. Od B RReM 3T Bl 8/Form high boiling azeotrope
b. g ®ud fAR@M ITF F &/Form low boiling azeotrope
c. @H dgEiicd 1 gF 8/be of low volatility
d. SW& # ¥ &5 W TEl/none of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715133900 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el smae # W fdaEd, ... /In extractive distillation the solvent used shall

a. 9o ©YF f@R@Ml 309 FW §/Form high boiling azeotrope
b. 9 By RREM ITF $ 8/Form low boiling azeotrope
c. @H a1 g 5/be of low volatility
d. SWdd H ¥ @5 W Agl/none of the above

Options :
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1.a
2.b
3.¢C
4.d

Question Number : 21 Question Id : 7715133901 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 g Ted & o (6s/0p)y . ..... .. & GHM §/For a pure substance (8s/dp)x is equal to

da. CPXP
P XV
s XP

-VIT

b.

C.

d.

Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715133901 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T g Te & o 6s/0p) .. ... .. & GHM 8/For a pure substance (8s/dp)x is equal to

da. CP /P
P XV

CFXP

b.

C.

d -VIT

Options:
1.a
2.b
3.C


https://applink.adda247.com/d/XhqWf9lSap
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4.d

GET IT ON
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Question Number : 22 Question Id : 7715133902 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ A0d ST 3 Joried dffpd § v wUmu & fau e | By Rigw

@1 I o 9 g2

For improved conversion in a highly exothermic solid catalyzed reaction, which of the

following reactor is to be used

a. &R 70 NUTR/Fixed bed reactor
b. Rd da RUd/Fluidized bed reactor
¢. MR 70 RigX & 916 W da RigR
Fixed bed reactor followed by a Fluidized bed reactor
d. T RER & a1 R @ Rigw
Fluidized bed reactor followed by a Fixed bed reactor
Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715133902 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

UG Add WY 31 Jaried AffHd ¥ deR FUmRU & fou Aol § By Riew

@1 IwE o 9 82

For improved conversion in a highly exothermic solid catalyzed reaction, which of the

following reactor is to be used

a. TR 3@ RUTR/Fixed bed reactor
b. Wd dd RUFeR/Fluidized bed reactor
c. fR 9@ N & 96 @ da RiEX
Fixed bed reactor followed by a Fluidized bed reactor
d. ™a da Nteex & a6 R Ja fiwer
Fluidized bed reactor followed by a Fixed bed reactor
Options :
1.a
2.b
3.C

4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 23 Question Id : 7715133903 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T2 gF o & U@ 19 Wdd U 4wk gldl gl T @l So-ared Uid

Assume a gas expands freely, the Joule-Thomson coefficient of the gas is

a. as-
= (5),

Options :
1.a
2.b
3.C
4.d

Question Number : 23 Question Id : 7715133903 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T gF o & U@ 19 Wdd U 4 wkd eidt 81 T &I Sa-emed e ... .. 8l

Assume a gas expands freely, the Joule-Thomson coefficient of the gas is

a. as-
= (37),


https://applink.adda247.com/d/XhqWf9lSap
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Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715133904 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wd & $ifad fdg R Fofaied d H-1 S T8 82

At the critical point of water, which of the following statement is correct?

a. dGH @ @ FHW UG §/Latent heat of vaporization is maximum
b. A% @ T HW YA §/Latent heat of vaporization is zero

c. dIYHM 374.15K %fTemperamre is374.15K

d. d%F @ @ HW GAdH §/Latent heat of vaporization is minimum

Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715133904 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wd & $ifad fdg R Fofeied d sH-91 o3 @l 82

At the critical point of water, which of the following statement is correct?

a. dGH @ @ FHW UG §/Latent heat of vaporization is maximum
b. dWH $I @ FW I 8/Latent heat of vaporization is zero

c. dlYHH 374.15K %fTemperamre 15374.15K

d. d%F @ @ HW YAdH §/Latent heat of vaporization is minimum

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715133905 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

.......... & T HEAA & [, log (34 Sid) W log (VRS B IRIS

Hgdl) & G B BUES e Bl ol
The plot of log (half life) Vs log (initial concentration of reactant) is having a negative slope

for reactions with

a. ®lf¢ =1/0rder=1
b. ®If¢ >1/0rder>1
c. ®if¢ <l/Order<l

d. I Biic/Zero Order

Options:
1.a
2.b
3.¢
4.d

GET IT ON
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Question Number : 25 Question Id : 7715133905 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

.......... & T HHAA & [T, log (34 Sd) W log (HERD B RIS

Tigd) & NG B BUES Grd Bl ol

The plot of log (half life) Vs log (initial concentration of reactant) is having a negative slope
for reactions with
a. ®If¢ =1/0rder=1
b. @I >1/Order>1
c. @I <I/Order<l

d. I Biic/Zero Order

Options:
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715133906 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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SR $0,(g) +504(g) = S0, % R @ A & ... I B B

For the reaction of S0,(g) + %Oz (g) = S0; increase in pressure causes
a. Jdd Ydad EUIqU/Higher equilibrium conversion

b. FW®W H B URdad Ael/No change in conversion

c. [MHR ¥Jad FURU/Lower equilibrium conversion

d.  afiflea @ H gg/Increase in rate of reaction

Options :
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715133906 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W502(3)+§02(g)#50335ﬁwmﬁq1? ...... I B B

For the reaction of S0,(g) + %Oz (g) = S0; increase in pressure causes
a. 9o Uqad EUidUl/Higher equilibrium conversion

b. ®U®U H ﬁ'ﬁt V(EGRES Tel/No change in conversion

c. R Ygad TR,/ Lower equilibrium conversion

d.  affirfhar & @ H gfg/Increase in rate of reaction

Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715133907 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal24
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30°C T 407 &d @1 100°C W HIY ¥ §ead & a0 fdad SWId! & Ha<adal g7
[ < & T S 540 FUH/TH B)

How many calories are needed to change 40 g of water at 30°C to steam at 100°C? (Assume
heat of vaporization 540 calories/g)

a. 21600 cal
b. 2400 cal

¢. 24400 cal
d. 26400 cal

Options:
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 27 Question Id : 7715133907 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

30°C R 407 & ®I 100°C R 41U § §ead & U fad Wil &1 fawgdal 82
@A T 5 T S 540 FWH/TH 2)

How many calories are needed to change 40 g of water at 30°C to steam at 100°C? (Assume
heat of vaporization 540 calories/g)

a. 21600 cal
b. 2400 cal

¢. 24400 cal
d. 26400 cal

Options :
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715133908 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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W foeq o f9ggd-3mued & SR 99 9.65 A @I fdgqauRl, 600 Ydvs! & fow &g, df 3
I B o Fafid g3l o &1 Afiae FeruH fdd 87 (LF = 96500C)
3 g of a monovalent metal was deposited during electrolysis of a solution, when 9.65 A current
passed over 600 seconds. What will be molecular mass of the metal? (1F = 96500C)
a. 30
b. 100
. 25
d 40

Options:
1.a
2.b
3.¢
4.d

Question Number : 28 Question Id : 7715133908 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W foee o f9ggd-3mued & SR 99 9.65 A @I fagqaurl, 600 Ydvs! & fow &g, o 3
o B o Fafid gl o &1 fiae FeH fdd 87 (LF = 96500C)
3 g of a monovalent metal was deposited during electrolysis of a solution, when 9.65 A current
passed over 600 seconds. What will be molecular mass of the metal? (1F = 96500C)
a. 30
b. 100
o
d 40
Options:
1.a
2.b

3.cC
4.d

Question Number : 29 Question Id : 7715133909 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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T$ Wi, 20007 S P 0°C R Bl § 4R 60°C R FRASR el ¢ Wifaa @l JaH
& U H9%0F TAaH M O @ IR DIl

Consider a refrigerator that removes 2000 J heat at 0°C and rejects at 60°C. Calculate the
minimum amount of work required to operate the refrigerator?

a. 439.6]
b. 219.8]
c. 4423]
d 879.2]
Options :
1.a

2.b

3.c

4.d

Question Number : 29 Question Id : 7715133909 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T Wi, 20007 $W Bl 0°C R §el § 3R 60°C W HBR Pl g1 Wil $I TaH
& fou s Han o1 9E @1 tRdad difou

Consider a refrigerator that removes 2000 J heat at 0°C and rejects at 60°C. Calculate the
minimum amount of work required to operate the refrigerator?

a. 4396]J
b. 219.8]J
c. 4423]
d 879.2]
Options :
1.a

2.b

3.c

4.d

Question Number : 30 Question Id : 7715133910 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

frafifaa & o1, @ oI o Swfie e o uaRfia o 22

Which of the following represents the thermodynamic efficiency of a cell?
a. -nFE

b. AH/AG
c. -nFE/AH
d. nFE/AS

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715133910 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frafifad § o1, @ DI & FWe e o UaHid &3dr g2

Which of the following represents the thermodynamic efficiency of a cell?
a. -nFE

b. AH/AG
c. -nFE/AH
d. nFE/AS

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715133911 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T/l URade & AMC H SUAUG & iU e Bl ... ... ¥ 3fiead fooar o g

In terms of entropy change, the temperature co-efficient of EMF is expressed as....
a. AS/nF

b.  nF/AS
c. -RTInS
d. -AS/nF

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.¢C
4.d

GET IT ON
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Question Number : 31 Question Id : 7715133911 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

T ORAdH & HMG H SUAUG & did Ui

In terms of entropy change, the temperature co-efficient of EMF is expressed as....

a. AS/nF
b.  nF/AS
c. -RTInS
d. -AS/nF
Options :
1.a

2.b

3.¢C

4.d

Question Number : 32 Question Id : 7715133912 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR & oRA Fuiva g § apfte ®U ¥ ToRd ®a S0 o faguy @ ... $el 9 gl

The locus of fluid particles that have passed sequentially through a prescribed point in the flow

are called .......

a.
b.

o

d.

Y-/ Path lines
EIHIE’—WI Stream lines
qui-3l/ Streak lines
HIT-1d1/ Time lines

Options :

1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715133912 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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yae & o Fefa fig 3 o w0 @ o @ ot & figw @ ... & O Bl

The locus of fluid particles that have passed sequentially through a prescribed point in the flow
are called .......

a.  TY-3@I/Path lines

b.  WaKE-@l/Stream lines

qui-x@l/ Streak lines

d.  ®A-14El/Time lines

L]

Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715133913 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ueed ©id @R, U6 UBR 3l ......... &/Pelton Wheel turbine is a type of .............
a. YTHS fdRITT W/ Positive displacement turbine
b. M et/ Impulse turbine
c.  Wfdfshdr RaEA/Reaction turbine
d.  Iww ¥ ¥ $i o 981/ None of the above
Options:
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715133913 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ueed ©id @A, U6 TBR &l ......... 8/Pelton Wheel turbine is a type of .............
a. UTH® [GRITT &I/ Positive displacement turbine

b. M et/ Impulse turbine

c.  Wfdfhdr EEA/Reaction turbine

d. W& ¥ ¥ PiE 4 g1/None of the above

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.¢C
4.d

Question Number : 34 Question Id : 7715133914 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

M3/ M2 @ fdUCr, Mn, Fe @41 Co 9Ig3l &1 HM® 3G90 faud, HHR: -0.41 V,+1.57V,+0.77
VAU +1.97 Vel IR Ieiidd oy o1g &1 M2 MF o fou e @ sfiedia g &
Standard reduction potential of metals Cr, Mn, Fe and Co for M?*/ M?" is -0.41 V, +1.57V, +0.77
V and +1.97 V respectively. Which of the metal mentioned above easily undergo oxidation from
M2 to M3

a. Co

b. Mn

¢c. Cr

d Fe

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715133914 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

M3*/ M2 @ fdUCr, Mn, Fe 04T Co 9Iq3l &1 HH® 3090 favd, HR: -0.41 V,+1.57V,+0.77
VIl +1.97 VEl SR Seiidd by o &1 MY Mo T O 3 SRy gl €2
Standard reduction potential of metals Cr, Mn, Fe and Co for M**/ M is -0.41 V, +1.57V, +0.77
V and +1.97 V respectively. Which of the metal mentioned above easily undergo oxidation from
MZ* to M3?
a. Co
b. Mn
S ¥ s

d Fe

Options:

1.a

2.b
3.cC


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 35 Question Id : 7715133915 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fdgd o1 Udlg & U saaifad oM AR deisd-Bel & di &1 Udy @ g

For open channel flow, what is the relation between hydraulic diameter and hydraulic radius
a. Di=Ry

b. Dy=2Ry
c. Dy=4Ry
d

Gq!jﬂﬂ 73 ?ﬁ'ﬁ i 981/None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 35 Question Id : 7715133915 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fdgd @ Ydle & U gaaifed oM AR deigd-Fed & di &1 ey @ g2

For open channel flow, what is the relation between hydraulic diameter and hydraulic radius
a. Di=Ry

Dy=2Ry

Dy=4Ry

Gq!jﬂﬂ 73 ?ﬁ'ﬁ i 981/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715133916 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

faeun & & Wy s e | ofg e &®dl B L. ®el WIdl gl

Fluids for which the apparent viscosity increases with the rate of deformation are called
a. ©% WRH/ Pseudoplastic

b. fs @if&®, Bringham plastics
fa¥erl/Dilatant
9Wdd H ¥ B3 i TEi/None of the above

Options :

c. o

1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715133916 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faeun & & 9y S W # gfg gHad Wl B L ®el o Bl

Fluids for which the apparent viscosity increases with the rate of deformation are called
a. 99 WIEH, Pseudoplastic

b. s wN&®/ Bringham plastics
c. [d@Ri/Dilatant

d. Cﬂ*jﬂﬂ 73 ﬂﬂ'&f 4! 981/None of the above

Options:
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715133917 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

P A1, 2 9w A3 AHE R dF e SR & §9 3 S8 S oM ad 8l dl
dUH R S8 399 Td1, 9090 ¥ S8 U &dl § 3N &2 dH R oaRd @ S
¢l 8, SO 399 T92, 0 dWH R JaRM ¥ S8 UE &l § 3R A3 dT0HE R JaRY
B W A B A o 6§99 WIE SS9, §99 TSl Wd S & $HM 81 AF d
f5 $ 399, JopAuig URRURT W ot ¢ aul T aAE dfeds | 81 3R $59 w1yl
591 92 @ Gadl U3 99 &, 9oy dlgEd R al ... Y offiired o &1 Wad g
Two heat engines work between three thermal reservoirs at temperatures T1, T2 and T3,
respectively. Heat engine H1 receives heat from the reservoir at temperature T1 and rejects heat
to the reservoir at temperature T2, heat engine H2 receives heat from the reservoir at temperature
T2 and rejects heat fo the reservoir at temperature T3. assume that the heat rejected by engine
HI is equal to heat input to engine H2. Assume heat engines operate under reversible conditions
and all temperatures are in Kelvin. If the efficiencies of engines H1 and H2 are same, the
reservoir temperature T2 can be expressed as

d.
T, -T
0D
b (T, +T,)
Tzz 2

d. T2 =4/ 2T1T3

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715133917 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

P A1, 2 9w A3 AHE R dF e SR & §9 3 S8 S oM ad 8l dl
dUH R S8 399 Td1, 9090 ¥ S8 U &dl § 3N &2 dH R oaRd @ S
¢l 8, SO 399 T92, 0 dWH R JaRM ¥ S8 UE &l § 3R A3 dT0HE R JaRY
B W A B A o 6§99 WIE SS9, §99 TSl Wd S & $HM 81 AF d
f5 $ 399, JopAuig URRURT W ot ¢ aul T aAE dfeds | 81 3R $59 w1yl
591 92 @ Gadl U3 99 &, 9oy dlgEd R al ... Y offiired o &1 Wad g
Two heat engines work between three thermal reservoirs at temperatures T1, T2 and T3,
respectively. Heat engine H1 receives heat from the reservoir at temperature T1 and rejects heat
to the reservoir at temperature T2, heat engine H2 receives heat from the reservoir at temperature
T2 and rejects heat fo the reservoir at temperature T3. assume that the heat rejected by engine
HI is equal to heat input to engine H2. Assume heat engines operate under reversible conditions
and all temperatures are in Kelvin. If the efficiencies of engines H1 and H2 are same, the
reservoir temperature T2 can be expressed as

d.
T, -T
0D
b (T, +T,)
Tzz 2

d. T2 =4/ 2T1T3

Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715133918 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

U$ ®a @ uigd T0d, k ....... &/Coefficient of compressibility of a fluid, k is
a av
-(7),
b av
*(5),
c aP
7 (3),
d. av
),
Options :
1.a
2.b
3.¢C
4.d

Question Number : 38 Question Id : 7715133918 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P W Pl %Iﬁ?ﬂ HUT'W, k oo..... %fCoefﬂcient of compressibility of a fluid, k is
a av
-(7),
b av
F (?)T
c ilg
_V(W)T
d. av
-7),
Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715133919 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

% o1y i &I g g It & o1 uRkeeT @ ... &gl o o
The phenomenon of producing lift by the rotation of a solid body is called
a. YA UG/ Vortex effect

b. el Wald/Bernoulli’s effect

3 f$& UHId/Up disc effect

d. AU YIG/Magnus effect

Lar]

Options:
1.a
2.b
3.¢
4.d

Question Number : 39 Question Id : 7715133919 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

% oY i &I gui gr It & &1 uRkee @i ... &gl o o
The phenomenon of producing lift by the rotation of a solid body is called
a. YA UG/ Vortex effect

b. el Yald/Bernoulli’s effect

3 f$& UHId/Up disc effect

d.  #UY YHE/Magnus effect

Lar]

Options:
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715133920 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

U6 JOOR URU H UdlE, W9 ghitl onfl 3R Rd & Ik WHAd 3 ®a ¥
yioitd foar 9 R S 9 31 B W, o Y6 & R A 3 $gl o GOl 57
Flow through a circular pipe is laminar. Now if we replace the fluid with another fluid with
higher viscosity, while maintaining the same velocity, what can we say about the flow?

a. Udg, WY & @/ The flow will remain laminar

b. Tdlg, W§s EW/’TIle flow will become turbulent

¢c. Vdg, & B/ The flow will become Transient

d. T P50 Whd & 98 Wy W WA g

We cannot say whether it will be turbulent or laminar

Options :
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715133920 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 JOOR U0 H AR, W9 gl ol R Rd ®l SuR WHAA 39 R®d U
Wt o U oR S 3 & orE €, @ WOk & aR § @ ol 91 $odl o7
Flow through a circular pipe is laminar. Now if we replace the fluid with another fluid with
higher viscosity, while maintaining the same velocity, what can we say about the flow?

a. WaE, TRA 8 W/ The flow will remain laminar

b.  WdIg, W &M/ The flow will become turbulent

c. Wi, &fUid B/ The flow will become Transient

d.  ©9 3% T Y9q [ 98 U T WG g

We cannot say whether it will be turbulent or laminar

Options:
1.a
2.b
3.C
4.d

Question Number : 41 Question Id : 7715133921 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

U P R URY, U6 @ ool 4 10 9R) B J9 W LS T/ a1
FYAMI TaUe [ @1 g X T ¢l A UrSY @1 o 10 Ui § SR FH Uy
&1 O 5 UHIE § T UU 5 kW &1 JUHIM @R gl g1 UY B O ¥ %9 &1 R 4T 8k
T o B UG I 87

A positive displacement pump is pumping a brine solution having density of 1.15 g/cc from an
open tank to a height of 10 m. Inlet pipe is of 10 cm diameter and outlet pipe is of 5 cm diameter
and the pump consumed 5 kW. What is the ratio of outlet velocity to inlet velocity of the liquid
being pumped?

a. 05

b. 1.0

¢c. 20

d. 4.0

Options :
1.a
2.b
3.C
4.d

Question Number : 41 Question Id : 7715133921 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W §ES [GRTH UBY, W@ |4 @ ¥ 10 9 @ d9R ® 115 TR w1
T qaud fqoad @1 U0 3R 351 ) S U5y &1 g 10 YeHiex § ok i s
&1 O 5 YEEX & 7U1 UU 5 kW @1 SUMI R W@l ¢l UY fBU o 5 g9 @ MW a8k
S T B U I 7
A positive displacement pump is pumping a brine solution having density of 1.15 g/cc from an
open tank to a height of 10 m. Inlet pipe is of 10 cm diameter and outlet pipe is of 5 cm diameter
and the pump consumed 5 kW. What is the ratio of outlet velocity to inlet velocity of the liquid
being pumped?

0.5
b. 1.0
c. 2.0
d 4.0

Options:
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 42 Question Id : 7715133922 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uy fhy SHdiel 59 & TehrEE @ g L. ... ... oH o o1 9o Bl
Susceptibility for cavitation of the liquid to be pumped can be reduced by ........
a. W dudH ¥ 9§ @ Wincreasing fluid temperature

b. 90 g4 ¥ 9f& TH Wincreasing suction pressure

c. TNV Wa§ @ # dig @M Wincreasing suction flow rate

d. ®d @ ¥ dekdl - YReducing fluid pressure

Options :
1.a
2.b
3.C
4.d

Question Number : 42 Question Id : 7715133922 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U0 fU SHae %9 & TedEd @ SHE ... ... @H foa o 9@ g

Susceptibility for cavitation of the liquid to be pumped can be reduced by ........
a. @a auuH ¥ 9fg aH Wincreasing fluid temperature

b. g9V @ ¥ 9& WH Yincreasing suction pressure

c. U WdE & H gig @ Yincreasing suction flow rate

d. Rd @& § Bl aH YReducing fluid pressure

Options:
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715133923 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fofefe s & eF-8 o @1 aiIH ol A & IR FHeS o T 2
Which one of the following sequences is arranged according to increasing colorific value?
a. d9-FR N, WPldd T, WU-3R H/Producer gas, natural gas, water gas

b. WdHlie T, T-MR 9, YU-R G/Natural gas, producer gas, water gas
I-9R T, HU-3R 9, WHlde T/Producer gas, water gas, natural gas
U-3R 79, Tiplde 9, dg-9fTR T9/Water gas, natural gas, producer gas

e o

Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715133923 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofofed opd & PH-T wpdl @l ofH TUfc 9 & AR PEEg U T |2
Which one of the following sequences is arranged according to increasing colorific value?
a. d-3R 9, Wldd ¥, WU-3R /Producer gas, natural gas, water gas

b. WHlid T, TY-3MR 19, YU-3R G/Natural gas, producer gas, water gas
M-3R W, HIU-3FR 7, WPldd T4/Producer gas, water gas, natural gas
T-3R 79, Tfae 79, G-9fTR 7/Water gas, natural gas, producer gas

[T o ]

Options:
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715133924 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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w0 fRd fie @ =E 9qe ® eH & fou Fofofea ol § o6 9@ 8
For a floating body to be in stable equilibrium, which of the following conditions is correct?

2. @A b5, S & Tod &% & I §

The meta center is below the center of gravity of the body

b, @ bz, 03 & Td &% & IW &

The meta center is above the center of gravity of the body

c. H<d d% 7Y Tod d% @ ol 9 W gH deg

Meta center and center of gravity should be at the same point

d. 3 ¥ o o W T&¥ §/None of these are correct
Options :
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715133924 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W fRd fis @1 R dqer 7 gH & o Poffed od § o1 9@ &

For a floating body to be in stable equilibrium, which of the following conditions is correct?

a. &Waﬂ,ﬁga?ﬂ?ﬂﬁaﬁﬂﬂ%

The meta center is below the center of gravity of the body

b, @ dg, I & Tod o5 & IN o

The meta center is above the center of gravity of the body

c. @A &% d¥ Tod 3% 0P o fdg N gH ey

Meta center and center of gravity should be at the same point

d. 39 ¥ @l ol W gl 8/None of these are correct
Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715133925 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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URTH & HIUR R T9-T9 Qyaa 1§, Quasul & 981 R0 . ... .. B IW Bl

In gas to gas separation based on permeation, the principal reasons for separation is the
difference in,

a. (ool Diffusivity
b.  facgdl/Solubility

. I/ Volatility
d. 7 HMLatent heat

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715133925 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

URTH & YR R T0-19 JUeai 1§, Quaniul & & R0 .. .. .. @ HW gl

In gas to gas separation based on permeation, the principal reasons for separation is the
difference in,

a. (oo Diffusivity
b. fackadl/Solubility

. dgEiidl/ Volatility
d. T H®/Latent heat

Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715133926 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

I (9 1), it ¥ Y R didd § URW & 99 (9ed 2) | dfd § 3@ 8l 9l
754 & TR ddd & $U 7§ Wi & Fsw o R @ TRl Ni, @ 9E @
Fd ®IF ¥ WEY 9W @ TP § adl Ji, T R & Y9ed @ Sed T D o 9
&Y T S Tad gl AF o & dldd @ R B ag, R g1 Feeaied § o 98 g
Ammonia (component 1) is evaporating from a partially filled bottle info surrounding air
(component 2). The liquid level in the bottle and the concentration of ammonia at the top of the
bottle are maintained constant. Ni is the molar flux relative to a fixed location in space and Ji is
the molar flux relative to the average molar velocity of the constituent species in the gas phase.
Assume the air in the bottle is stagnant. Which one of the following is correct?

a. NI =@R®/constant; N2=0;J1+12=0

b. NI+N2=0:J1+]2=0

c. N1+N2=0;J1="RR@/constant; 12 =0

d. NI =@Rid/constant; N2 = 0;J1 = [@Ri®/constant; J2 = 0

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 46 Question Id : 7715133926 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

AT (9 1), i ¥ Y R didd § R & 99 (4¢P 2) | affid §) 3@ 5l didd
450 & U ddd & S 4 A i & Higw ol f@R @ gl Ni, 16 W @
g ®F ¥ T8 90 @ s § 9 Ji, T R0 & J9ed bl A9 T G AT U
&Y TH UG TMad gl AF o 6 dldd @ o o a1, R 31 FeEEiied § o 98 8
Ammonia (component 1) is evaporating from a partially filled bottle into surrounding air
(component 2). The liquid level in the bottle and the concentration of ammonia at the top of the
bottle are maintained constant. Ni is the molar flux relative to a fixed location in space and Ji is
the molar flux relative to the average molar velocity of the constituent species in the gas phase.
Assume the air in the bottle is stagnant. Which one of the following is correct?
a. NI=TR®/constant; N2=0;J1 +12=0
b. NI+N2=0:J1+]2=0
c.  NL+N2=0; ]l =RR®/constant; J2 = 0
d. NI ="@Ri®/constant; N2 = 0;J1 = @Ri®/constant; J2 = 0

Options:

1.a

2.b

3.C
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4.d

Question Number : 47 Question Id : 7715133927 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ug ARG faog & faqme g faemww & ... ... @gl ol gl

Desorption of a adsorbed solute by solvent is called

a.  [T%pYUI/Extraction

b.  fa=MyUI/Desorption

c.  &ICU/Elution

d. Jopdl HfYRIUUIReverse adsorption

Options :
1.a
2.b
3.C
4.d

Question Number : 47 Question Id : 7715133927 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ug AR fady & s R Rgmu @ ..., G |

Desorption of a adsorbed solute by solvent is called

a.  [ISPYU/Extraction

b.  fa=myu/Desorption

c.  &TU/Elution

d. Jopdl HfY=IEUIReverse adsorption

Options:
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715133928 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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o ¥ ST & aSiey B g uloly L. T 2l

The main resistance for absorption of ammonia in water is from
a. %d WU/Liquid phase

b. 9% 9W/Vapor phase

c. ad¥Rb, GHBotha&b

d. a IR b ¥ G W T Neither anor b

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715133928 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

odl | M & ANy B qed Uik L. 4 2l

The main resistance for absorption of ammonia in water is from
a. %d WU/Liquid phase

b. 9™ =WU/Vapor phase

c. a 3R b, EH/Bothadb

d. a IR b ¥ o o TE/Neither anor b

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715133929 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fowdur o & favoww & fou Fufafaa sfem demst § fowe Swm v o &7

Which of the following dimensionless numbers is used in the analysis of Creeping flow?
a. TR HBI/Grashof number

b. iy U&/Reynolds number

¢. WIS Y&I/Froude number

d. Wigd HEA/Prandtl number

Options:


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.¢C
4.d

Question Number : 49 Question Id : 7715133929 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fawdu e & foww & fou Fefafed sifon gome o ouer wm fbar 9 &2
Which of the following dimensionless numbers is used in the analysis of Creeping flow?
a. URI% H%/Grashof number

Hicgd G&/Reynolds number

PI3s G8/Froude number

Yigd U@/Prandtl number

B 0o o

Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715133930 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1% -5 UOX ¢ WY § R 5 W 9gd 39 8, d ¢ gR § SN 384 W, 5 B 4o
Todl ¢ o 79 9 59 & 99 906 oHeR g 9odl gl 39 R @ ... . 5E W gl
In a gas-liquid contact tray column, if liquid rate is too low, the gas rising through the tray

opening may push the liquid away leading to poor contact between gas and liquid. This condition
e 11 E——

a.  ffcYwH/Priming

b.  ¥@/Coning

c. [Hd/ Weeping

d.  3¥F/Flooding

Options :
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 50 Question Id : 7715133930 Question Type : MCQ Option >hurtriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

15 -5 TR ¢ WY # R 50 W 9gd BA 8, @ ¢ gR § IR I3 19, 5 I 4o
Tl & il 79 9 %0 & d19 900 oH9R o 9dl 81l 39 R @ ... @l oI ol
In a gas-liquid contact tray column, if liquid rate is too low, the gas rising through the tray

opening may push the liquid away leading to poor contact between gas and liquid. This condition
I8 called. s

a.  ffcHwH/Priming

b.  ¥&/Coning

c. Hd/ Weeping

d.  3f¥/Flooding

Options:
1.a
2.b
3.C
4.d

Question Number : 51 Question Id : 7715133931 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

090 mmHg & P & H §=i- a0 qul Tigelod 9 & 0 § R d=f @ FRUE ol
0.1 mol a=afi/mol eI &, f di &I il ad ...... 8l

In a mixture of benzene vapour and nitrogen gas at a total pressure of 990 mm Hg. If the absolute
humidity of benzene is 0.1 mol benzene/mol nitrogen, the partial pressure of Benzene is, ...........
a. 99.0 mm Hg
b.  90.0 mm Hg
c. 34.3mmHg
d. 393 mmHg

Options:
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715133931 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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090 mmHg & P & H §=i- a au Tigelod 79 & 0 § PR =i @ FRUE ol
0.1 mol a=afi/mol eI 8, df di &1 il ad ...... 8l

In a mixture of benzene vapour and nitrogen gas at a total pressure of 990 mm Hg. If the absolute
humidity of benzene is 0.1 mol benzene/mol nitrogen, the partial pressure of Benzene is,
a. 99.0 mm Hg

b.  90.0 mm Hg

c. 343 mmHg

d. 393 mmHg

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715133932 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR W G IR AT W6l 91 @1 99 Pifeg
Choose the correct sentence to define a ‘stationary’ medium.

a. [REY Tae, FEURia mae & §A 3
Absolute flux of a species is equal to diffusive flux
b. YU & 3G A 97 LA §/Molar average velocity of mixture is zero
c. a 3R b, qBotha&b
d. a b, GHI TEI/Neitheranor b

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715133932 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T A G TR AT Wl IR o1 99 Pifvg
Choose the correct sentence to define a ‘stationary’ medium.

a. REY Mow, ERuRia Moe & WEH @
Absolute flux of a species is equal to diffusive flux
b. YU B A A I LI €/Molar average velocity of mixture is zero
c. adRb, aHI/Botha&b
d. a Wb, GH Tgl/Neither a nor b

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715133933 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 fafram ufsear ... ..., & THH §/Ion-exchange process is similar to ............
a.  HSRIVU/Adsorption

b.  3duINUI/Absorption

c. [&IdT/Leaching

d. FsYUExtraction

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715133933 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 fafgm wfsbar ... ..., & ¥HH §/Ion-exchange process is similar to ...........
a.  HISRIU/Adsorption

b.  3duINUI/Absorption

c. &I/ Leaching

d.  FspHU/Extraction

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.¢C
4.d

Question Number : 54 Question Id : 7715133934 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R SgRl & AP ORI B & WeW ¥ MU @ A ... ... gl

Diffusion rate of A under steady state, throu gh non-diffusing B

a.  Na=[Das/(z xa:)] (M/P)ar ( Xa1-Xa2) STel/where Xpn = (Xa2-Xp1)/In(Xpy/X51)
b.  Na=[Dap/(z xem)] (p/M)a ( Xa1-Xa2) Sel/where Xgn = (Xp2-Xa1)/In(xsy/Xs1)
¢.  Na=[Dap/(z xpm)] (M/p)ar ( Xa1-Xa2) Fal/where Xy = In(xga/xp1) /(Xp2-Xp1)
d.  Na=[zDap/ xam)] (M/p)ar ( Xa1-Xa2) Tel/where gy = (Xa2-Xp1)/In(Xz2/%g1)

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715133934 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Rl AR P HH HGYRI B b AEH U ARWU WA ..., gl

Diffusion rate of A under steady state, throu gh non-diffusing B

a.  Na=[Das/(z xem)] (M/p)ar ( Xa1-Xa2) 6/ where xgn = (X52-Xa1)/In(Xp2/X51)
b.  Na=[Das/(z xem)] (p/M)ar ( Xa1-Xa2) Sel/where xan = (Xz2-X1)/In(Xe2/x51)
c.  Na=[Das /(z xam)] (M/p)a ( Xa1-Xa2) S8/ where Xgy = In(xg/%81) /(Xg2-Xz1)
d.  Na=[zDap/ xm)] (M/p)ar ( Xa1-Xa2) &1/ Where xg; = (Xa2-Xp1)/In(xz2/x81)

Options :
1.a
2.b
3.C
4.d

Question Number : 55 Question Id : 7715133935 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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TSI dd & WY SHeiad TS qul Uqed @) R & U, A ae 2 x 105 N/m?
aul 24 °C R G Y0 &1 GAH FEEER & WU 60%, S 20%, WU 9%, T-wged
6% U1 TH-Ue 5% YrmaRyl faeq (N/mx10-3 H asaere; $391: 42, WiT: 9, TI-o4c: 2.4 T
WH-UeH: 0.7) H UG & TH U W $ URGeH il

After long contact with a hydrocarbon oil and establishment of equilibrium, a gas mixture has
the following composition at 2 x 107 N/m?total pressure and 24 °C.: methane 60%, ethane 20%,
propane 9%, n-butane 6% and n-pentane 5%. Calculate mole fraction of propane in the
equilibrium solution (Vapour pressure in N/m?x10-; Ethane: 42, Propane: 9, n-Butane: 2.4 and
n-Pentane: 0.7)

a. 038l

b. 0.18
c. 0.09
d.  0.02
Options :
1.a

2.b

3.C

4.d

Question Number : 55 Question Id : 7715133935 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TESITEA dd & WY Heiad YUd qU1 Uqed @1 R & U, A aE 2 x 105 N/m?
aUl 24 °C R 9 Y0 &1 GOH FEER & AU 60%, S99 20%, WU 9%, TI-94ed
6% U1 TH-UeT 5% TRyl fae (N/m2x10-3 H aaere; S3: 42, WIU: 9, TI-o4cH: 2.4 U1
WH-UeH: 0.7) H UG & TH U 3% & URSeH il

After long contact with a hydrocarbon oil and establishment of equilibrium, a gas mixture has
the following composition at 2 x 107 N/m?total pressure and 24 °C.: methane 60%, ethane 20%,
propane 9%, n-butane 6% and n-pentane 5%. Calculate mole fraction of propane in the
equilibrium solution (Vapour pressure in N/m?x10-; Ethane: 42, Propane: 9, n-Butane: 2.4 and
n-Pentane: 0.7)

a. 038l

b. 0.18
c. 0.09
d.  0.02
Options :
1.a

2.b

3.c
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4.d

Question Number : 56 Question Id : 7715133936 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A3 A B >EY ... g/Roult’s law relates to .............
a. W g fdagAl WAl liquid solution
b. dd It 3G faeAl WAl non-ideal solution only

faqr®! d/Solvents
amusfie faeml WNon-volatile solutes

B o

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715133936 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A3 HEq @1 GEy ... .. g/Roult’s law relates to
ot g faemAl WALl liquid solution

dae 9 el fdegHt WALl non-ideal solution only
fgra®! Solvents

Jamasiid faclal d/Non-volatile solutes

e o o

Options:
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715133937 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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..... @ 3@ HYH D QYIIRU & Uy Ha &1 IughT e S 2

Steam distillation is used for separation of high boiling

a.  dEid Usedl ¥ Ual/Substance from non-volatile impurities
b.  gH/Volatile impurity from still higher boiling substances

c.  GHI (a)dYl (b)/Both (a) & (b)

d. (a) 3R T (b)/Neither (a) & (b)

Options:
1.a
2.b
3.¢
4.d

Question Number : 57 Question Id : 7715133937 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

..... @ 3d HYH D QYFIRU & U Y e &1 IughT S 2
Steam distillation is used for separation of high boiling

a. dgEid 3Ugedl ¥ Ugrl/Substance from non-volatile impurities

b.  gH/Volatile impurity from still higher boiling substances

c. GHI (a)dYl (b)/Both (a) & (b)

d. T (a) 3R T (b)/Neither (a) & (b)

Options:
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715133938 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i & YrRiiD] & QU & [ ... TGERU BT IUANT fHAM Bl

........... diffusion is used for separating the isotopes of Methane
a.  dU&/ Thermal

b.  GId/Pressure

c.  HigU/Concentration
d. dd/Force


https://applink.adda247.com/d/XhqWf9lSap
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Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715133938 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

M9 & gowiHe! & QuedRu & fau ... R &1 I famed gl

........... diffusion is used for separating the isotopes of Methane
gt/ Thermal

a.

b.  GId/Pressure
c.  HigUl/Concentration
d. dd/Force

Options :
1.a
2.b
3.C
4.d

Question Number : 59 Question Id : 7715133939 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Simultaneous heat and mass transfer is correlated with
a. f¥H¢ F®@/Schmidt Number

b. Wigd ¥&I/Prandtl Number

c. {39 YH/Lewis Number

d. 2R4ge YBAISherwood Number

Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715133939 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Simultaneous heat and mass transfer is correlated with
a. f¥9¢ ®=/Schmidt Number

b. WSd H®A/Prandtl Number

c. U39 THILewis Number

d. R4S YBAI/Sherwood Number

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715133940 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

....... ¥ i 959 97 VohE ol @ ad @ e F R o T 3

Very tall packed towers are divided into series of beds to ................
a. Y9 SW B9 HH BX/reduce the overall pressure drop

b. WUH ¥ §d/avoid channeling

¢. 5d YRV $H H/reduce liquid hold up

d. @ ¥ Ta/avoid flooding

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715133940 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

....... » R agd 97 gk ol @ ad @) sEa A Rl R Wi 2
Very tall packed towers are divided into series of beds to ................

a. Y99 SW B9 HH B/reduce the overall pressure drop

b. WUH ¥ §d/avoid channeling

¢. 5d YRV $H H/reduce liquid hold up

d. @ ¥ Ta/avoid flooding

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.¢C
4.d

Question Number : 61 Question Id : 7715133941 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
CO, &1 3G . . ... BRI f&dl & Jdbdl §/CO; can be absorbed by

a. d«d ®Ud HERgs/Hot Cupric Oxide
b. faf¥gw gEsiedge/Lithium hydroxide
c. ¥id Ca(OH)y/Cold Ca (OH);

d. UgFrAlumina

Options :
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715133941 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
CO, &1 JHaEN . ... aRI f&d1 &1 Il §/CO; can be absorbed by

a. dd FU$ HEEs/Hot Cupric Oxide
b. fafgw gEsiddEe/Lithium hydroxide
c. ¥Id Ca(OH),/Cold Ca (OH);

d. UgHVAlumina

Options:

1.a

2.b

3.C

4.d

Question Number : 62 Question Id : 7715133942 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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fycae fdg, fcuar @ W d¢ g & Wl GO W1 U@ fdg W o s@dl 8l G iR W
i o gl @1 1@ B-ame Wt & fou fiade fag @1 S @ anie
A plait point is the point on the solubility curve, where the tie line reduces to a point. What is

the number of plait point for a ternary system containing two pairs of partially miscible liquids?
.
b.

I —

a2, o
L]

Options :
1.a
2.b
3.C
4.d

Question Number : 62 Question Id : 7715133942 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fege fdg, focud @ W 98 g & el 9O W1 U@ fdg W o *@d 8l HfE iR W
el & gl &1 1@ B-ame Wl & fou fade fig @1 g @ g
A plait point is the point on the solubility curve, where the tie line reduces to a point. What is

the number of plait point for a ternary system containing two pairs of partially miscible liquids?
.
b.

I —

a2, o
L]

Options :
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715133943 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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oid ol (e Unll) & ST & GRH 9d § COp & GEINY o U FoH R0 &1 6
IR T gl

During bottling of cold drinks (e.g. PEPSI), the main resistance to mass transfer for the
absorption of CO; in water lies in the

a. 9 fhed/Gas film

b. 4 hA/Liquid film

¢. %d-19 SNYY/Liquid - gas interface
d. 3™ U I3 TeI/None of these.

Options :

1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715133943 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wid W Ik Ul & sidd @ GRE Od H COp & AUy & iU SomH AR @ qe
IGR T 3

During bottling of cold drinks (e.g. PEPSI), the main resistance to mass transfer for the
absorption of CO; in water lies in the ...............

a. 19 fhe/Gas film
b. %3 eH/Liquid film
c. %d-19 SNIYY/Liquid - gas interface
d. 3 ¥ @5 Te1/None of these.
Options:
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715133944 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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9-59 08 29 W U@ vy ARd ot & w59 @ Yy 980 100 T 961
TS| U5 HFd §U 9o fo Sfckvae Rigid T 8, ol & O somE SR uid (ke) H
..... T i &M

The Reynold number of the liquid was increased 100 fold for a laminar falling film vsed for
gas — liquid contacting. Assuming penetrating theory is applicable, the fold increase in the
Mass transfer co-efficient (kc) for the system is

a. 100

b. 10
c. 35

d 1
Options :
1.a

2.b

3.c

4.d

Question Number : 64 Question Id : 7715133944 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

-39 YUdH §q WH U@ Gean fRdl e & U 5@ 1 WHicgy & 100 T Jel o
Te| U HFd §U A0 {6 Sickyash fugia aF] 8, Uunel & {0 So0H S0 Uid (ke) H
..... T 4 &M

The Reynold number of the liquid was increased 100 fold for a laminar falling film used for

gas — liquid contacting. Assuming penetrating theory is applicable, the fold increase in the
Mass transfer co-efficient (kc) for the system is
a. 100

b. 10
c. 3
d. 1
Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715133945 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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U6 {3l e WY U@ 20 mol% ad Jad Ml R & Ty 9a I 81 R WO
U &1 80 mol% a9 ¥ uRafdd four I &, d W@ s e ..... 3 IRad gl
A binary distillation column is operating with a mixed feed containing 20 mol% vapour. If
the feed quality is changed to 80 mol% vapour, the change in the slope of the g-line is :

a. L75

bi 25

c: X7

d 575

Options:
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715133945 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 YR HG WY U@ 20 mol% a4 Jad BT WU & WY Td I &1 IR R
TUR &1 80 mol% g ¥ URafdd fbm o 8, T - s e ¥ ..... @ ORadd B
A binary distillation column is operating with a mixed feed containing 20 mol% vapour. If
the feed quality is changed to 80 mol% vapour, the change in the slope of the g-line is :

a. L75

b 275

c:  X75

d 575

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715133946 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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EHGEe ... ... B/EDONte iS vuuvereenne

a. 3« U9d UlueH/High density Polyethylene
b. MM Yde/Neoprene rubber
c. URHH fa-rsa Udide Ugagad/Ethylene Vinyl Acetate copolymer
d. 3dd dedbid WS/Highly vulcanized rubber
Options:
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715133946 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UEHREE . ..... B/EDONItE 1S vuuversense

a. 3o Y9d Ueui¥eli/High density Polyethylene
b. @ ¥@S/Neoprene rubber
c. UHH fasa Udide Ugagad/Ethylene Vinyl Acetate copolymer
d. 3dd dedbid W@S/Highly vulcanized rubber
Options :
1.a
2.b
3.¢C
4.d

Question Number : 67 Question Id : 7715133947 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Skal # fgdig® YR . ... B/Secondary nutrients in fertilizers are ..............
a.  AIgclod, didl, BB Nitrogen, Copper, Phosphorous

b. $ic¥UH, ITE, UICRE@A/Calcium, Zinc, Potassium

c. lcwgH, B, Ye®¥/Calcium, Magnesium, Sulphur

d. dlel, ¥R, Hifdiss#/Iron, Sulphur, Molybdenum

Options :
1.a
2.b
3.c
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4.d

Question Number : 67 Question Id : 7715133947 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3@l ¥ fgdig® YRR . ... B/Secondary nutrients in fertilizers are ..............
A13ela, dial, ®HIY/Nitrogen, Copper, Phosphorous

BicigH, TG, WeRMH/Calcium, Zinc, Potassium

dfckrgd, AWREH, ¥e®y/Caleium, Magnesium, Sulphur

E’ﬁET, e, ﬁﬁ@qﬂ:’lron, Sulphur, Molybdenum

a o o

Options:
1.a
2.b
3.¢
4.d

Question Number : 68 Question Id : 7715133948 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A15el-di%, CAN (U IRG) @ ........ s o Yferd &g & gl
Nitro-chalk, CAN (a fertilizer) is dried in a dryer

a. ‘qﬂfﬁ"Rutar}’

b. Mafd/Vacuum

c.  gUlTunnel

d. Yd/Tray

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715133948 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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A5el-di®, CAN (UF IRG) @ ........ T o gfrd &g & gl
Nitro-chalk, CAN (a fertilizer) is dried in a dryer

a. ‘qﬂfﬁf'Rotary

b. Mafd/Vacuum

c.  gUI/Tunnel

d.  Yd/Tray

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715133949 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gfer RugeX § auaF R aF ... 9 | gl

Temperature and pressure in the urea reactor are of the order of
a. 50-170°C, 1000 bar

b.  140-180°C, 300 bar

c. 140-180°C, 2 bar

d 180 —2100C, 150 bar

Options:
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715133949 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i Rugex # dueH R &9 . ... w9 | g

Temperature and pressure in the urea reactor are of the order of
a.  50-170°C, 1000 bar

b.  140-180°C, 300 bar

c.  140-180°C, 2 bar

d. 180-210°C, 150 bar

Options:
1.a



Addal2i7

2.b
3.¢C
4.d

Question Number : 70 Question Id : 7715133950 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TEEd o & by Fufied 4 & 3 WHT TRied K, IRGEY & w4 H dild
o1 W &7

Which of the following grades of Nitric acid is described as ‘red fuming nitric acid, RENA’

. 45% ¥ T TEUET 3/ Acid over 45% concentration

b. 68%Y 3T WEUEM Mc/Acid over 68% concentration

c. 86%3 ¥ YU 3%/ Acid over 86% concentration

d.  96%9Y 3T TiEUE 3fl/Acid over 96 % concentration

Options:
1.a
2.b
3.C
4.d

Question Number : 70 Question Id : 7715133950 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T o & oy Fefifad afml & %8 Wi RT oF, JRWEHY & w0 § aftfd
foour o &2

Which of the following grades of Nitric acid is described as ‘red fuming nitric acid, RENA’

. 45% 3 ¥ YiUEId 3%/ Acid over 45% concentration

b.  68%¥ T TEUEG 3/ Acid over 68% concentration

c. 86% ¥ T TEUE 3/ Acid over 86% concentration

d.  96%4Y 3T WEUEM 3Fd/Acid over 96 % concentration

Options:
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715133951 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

| o) e £ 20| A T uRafdd @4 & U wgad B o g
The oxo-reaction is used for converting

a. Uchlgid @ UfeSgIEs/Alcohol to aldehyde
b. Ufthd @I Sfifefts/Paraffin to olefin

c. SfIféifhT @I UfcEeEe/Olefins to aldehydes
d

Ufcgese @ Uedigia/Aldehydes to alcohols

Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715133951 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Sfe-ififgmar ... ... 7 ufkafdd @ & fow wgad febar & g

The oxo-reaction is used for converting

a. Ucdigld @l UfeSglgs/Alcohol to aldehyde
b. %A &I 3fifciit-/Paraffin to olefin

c. SIS @I UfcSeEs/Olefins to aldehydes
d.

Ufcsgrgs @i Uedlgia/Aldehydes to alcohols

Options:
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715133952 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e el de § ... & o el o /Plasticizers are added to paints to s
a. oI §TH/Make it corrosion resistant
b. THGER WA &M/ Make glossy surface

O UaH & qul e # @R @I Adh-/Give elasticity and prevent cracking of film
arHEe SH@iH el Increase atmospheric oxidation

e o

Options:
1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.¢C
4.d

Question Number : 72 Question Id : 7715133952 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e el de § ... & o el o /Plasticizers are added to paints to s
a. oI §TH/Make it corrosion resistant
b. THGER WA &M/ Make glossy surface

0T U & qul e # @R @I Ad-/Give elasticity and prevent cracking of film
gAY AU §ei/Increase atmospheric oxidation

[ =T o]

Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715133953 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Y SgadioRul § 3@ 9gad § ... o/Polymer formed in cationic polymerization has
a. Gl fidd YR a0/ Narrow molecular weight distribution

b. ALH 3flgd UR fdRU/Medium molecular weight distribution

c. W Mfigd HR fdd0Broad molecular weight distribution

d. UM TR YLEHI/Generally isotactic structure

Options:
1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715133953 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

YR SgadIiaRyl H 3@ §gad ¥ ... o/Polymer formed in cationic polymerization has
a. Yo figs ¥R fRu/Narrow molecular weight distribution

b. LA MfUad YR faRUMedium molecular weight distribution

c. T ¥Mlgd YR fdRWBroad molecular weight distribution

d. MG ST T/ Generally isotactic structure

Options:
1.a
2.b
3.¢
4.d

Question Number : 74 Question Id : 7715133954 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gga® “ARarr, J 59 uRar ¥ @2

The polymer ‘Nylon’ belongs to which family below?
a. UAH UfIUAES/Aromatic polyamides

b. Ufhfed ulfeudrgs/Aliphatic polyamides

c. U/ Polyesters

d. 8 I T/All of these

Options :
1.a
2.b
3.C
4.d

Question Number : 74 Question Id : 7715133954 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dgad gar, - 5y oRar ¥ @2

The polymer ‘Nylon’ belongs to which family below?
a. ﬂﬁf{ﬁfﬁ Uﬁ@lﬂ‘&'ﬁ%mmatic polyamides

b. Ufahfed ulfeudrgs/Aliphatic polyamides

c.  UifUEY/Polyesters

d. 8 I T/All of these

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.¢C
4.d

Question Number : 75 Question Id : 7715133955 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

URlid Udlg &I ¥d¥ .... ¥§ §/Tranquil flow is related to
a. Yleed T@AI/Reynolds number
b. UEME Y&/Grashof number
c. W38 HE/Froude number
d. sl d@/Archimedes number
Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715133955 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

URId Udle &1 9dY . ... ¥ 8/Tranquil flow is related to
a. Ulcgd T@Al/Reynolds number
b. % T¥E/Grashof number
c. W38 H&I/Froude number
d. 3ffdHie! d@/Archimedes number
Options:
1.a
2.b
3.c
4.d

Question Number : 76 Question Id : 7715133956 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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o UishTT ¥ W Bl ... ... BRI dgdidd fbdl Wl 3l
By the Can process, Styrene is polymerized by........

a. YAP dgdd-/Bulk polymerization

b. e dgd®/Suspension polymerization

c. UEY dgdd-/Emulsion polymerization

d fge Sgad/Solution polymerization

Options :
1.a
2.b
3.C
4.d

Question Number : 76 Question Id : 7715133956 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

& Ui W W B L. BRI dgdidd fbdl Wl 3l
By the Can process, Styrene is polymerized by........

a. YAP dgdd-/Bulk polymerization

b. e dgd®/Suspension polymerization

c. UEY dgdd-/Emulsion polymerization

d fge Sga®/Solution polymerization

Options :
1.a
2.b
3.c
4.d

Question Number : 77 Question Id : 7715133957 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B4 Do B FAR UGN ... & Y URY gl gl

Higher yield of Carbon black is achieved starting with .......

a. Ufibied gRede- Bl He/Aliphatic hydrocarbon raw materials

b. WS gESIHld Hall Hic/ Aromatic hydrocarbon raw materials

c. @ul Hid & ®U H @le S5k s/Carbon disulphide as raw materials

d. @ A & ®U H d@R-FR g5eiae/Chloro — Fluoro hydrocarbon as raw materials

Options :
1.a
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2.b
3.¢C
4.d

Question Number : 77 Question Id : 7715133957 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fle Pod Bl JAR TGER ...... & Ty WY B 3

Higher yield of Carbon black is achieved starting with .......

a. Ufhicd glgside- dwl Hic/Aliphatic hydrocarbon raw materials

b. WAk gEeidl Hal Hiel/Aromatic hydrocarbon raw materials

c. al Hd & ®U H B SI5Uche/Carbon disulphide as raw materials

d. @d 94 & ¥ ¥ TRI-\RQ egiee-/Chloro — Fluoro hydrocarbon as raw materials

Options :
1.a
2.b
3.c
4.d

Question Number : 78 Question Id : 7715133958 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

G, G aYl TaH @ Jded & fou SeEEe a8 g Fefied gt @
SW U1 W g7

Which of the following processes is employed in petrochemical industry to produce Benzene,
toluene and xylene

a. MM Ho/Thermal cracking

b. JAN®! [FUWR/Catalytic reforming

c. WY [:H%R/Steam reforming

d.  JER@I He/Catalytic cracking

Options :
1.a
2.b
3.c
4.d

Question Number : 78 Question Id : 7715133958 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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g, 2l dYl SsaH & Ided & o SRS 8 4 6y FefiEd wibae @
S Tl S 82

Which of the following processes is employed in petrochemical industry to produce Benzene,
toluene and xylene

a. G 4o/ Thermal cracking
b. JaR®! [FUWR/Catalytic reforming
c. WU [:IEPR/Steam reforming
d.  JORI ¥/ Catalytic cracking
Options :
1.a
2.b
3.c
4.d

Question Number : 79 Question Id : 7715133959 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TiRTT o & T Wem de ¥ & e TRTAE @ &RU ¥ W @ 9 2l
= ®gl 9l g

Underwater pipelines made up of Iron are protected from corrosion by connecting with
Magnesium blocks. It is known as....

a. TR 8m/Magnesiothermic protection

b. e WUIdRU IT/Galvanization protection

c. I UAIfS® WUSacrificial anodic protection

d. I GUIfgd &WSacrificial cathodic protection

Options :
1.a
2.b
3.c
4.d

Question Number : 79 Question Id : 7715133959 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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it =io & WY Jea Ak 9 & e URUaRT @ &R0 4 [E W@ S Bl
. BEl oIl ¢

Underwater pipelines made up of Iron are protected from corrosion by connecting with
Magnesium blocks. It is known as....

a. AUIREAED 8/Magnesiothermic protection

b. TG TUIE &/ Galvanization protection

c. 9 WIfEd U Sacrificial anodic protection

d. I BUSH T80 Sacrificial cathodic protection

Options:
1.a
2.b
3.c
4.d

Question Number : 80 Question Id : 7715133960 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP YNURIEG (e o 9@y H oeR 19 @1 &l &1 HR-ed fU%ed &l JRNG IR ®
&5 q-4R ¥ YIRG fou T §1 U@ SehHui Al TR Gied @ HU gl 9F dige
IF o & @3 ofdd TY-HR qu Sehauiy SWIU @ GaR Juae &l

Consider an ideal gas in a frictionless piston cylinder assembly. The weightless piston is initially
loaded with a large number of small weights. How to carry out a reversible isothermal expansion
process? Assume that a large number of very small weights and an arrangement for reversible
heat transfer are available.

L R R e A T ot e e 1 s LU B

Without adding or removing weights on the piston, transfer heat to the system

b, fied § YR @I &g a1 g {61 Worell ¥ SRy P

Without adding or removing weights on the piston, transfer heat from the system

c. TR d YR &I Sied g IOmeh § S0 &

Adding weights on the piston, transfer heat to the system.

d. TR 9 "R @I gord §U Ul # SR $Y

Removing weights from the piston, transfer heat to the system.

Options:
1.a
2.b
3.c


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 80 Question Id : 7715133960 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP YYURTed e oo G | ey 9 @ &l B WR-0ed URed Bl TR IR |
$s qg-4RI ¥ yiRa fo5a 1 §1 0F S GHaTd R Ui & HY 9 o 9k
IF o & @3 ofdd TY-HR qu SehAua HHIWRU B G Juae gl

Consider an ideal gas in a frictionless piston cylinder assembly. The weightless piston is initially
loaded with a large number of small weights. How to carry out a reversible isothermal expansion
process? Assume that a large number of very small weights and an arrangement for reversible
heat transfer are available.

2. [T ¥ YR @l 91 a7 e {1 Tumel § S| &

Without adding or removing weights on the piston, transfer heat to the system

b, e ¥ YR I 91 1 e f TOTE ¥ SMiRT $

Without adding or removing weights on the piston, transfer heat from the system

c. MU H YR &I died g TOMH H S0 B

Adding weights on the piston, transfer heat to the system.

d. % ¥ 4R &I §ed §U WOkil H FWIw0 &

Removing weights from the piston, transfer heat to the system.

Options :
1.a
2.b
3.C
4.d

Aptitude Test


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

PartI

Question Number : 81 Question Id : 7715133961 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

g et o qu T g &2

To which group does the figure belong?

\

Group A

GroupBﬁ-_' F{ A X

4 m x>

(a)

(b)

(c) A&l A, 9B /Neither Anor B
(d) 3udad T/All of the above

Options :

1.a

2.b

3.¢C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

4.d

Question Number : 81 Question Id : 7715133961 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

g et o qu T g &2

To which group does the figure belong?

\.

Group A

Group B | —- _'

4 m x>

(a)

(b)

(c) A&l A, 9B /Neither Anor B
(d) 3udad T/All of the above

Options :

1.a

2.b

3.¢C

4.d

Question Number : 82 Question Id : 7715133962 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Addal@7

DH-T o (g 4ol &I QU 1 82

Which figure completes the series?

(b)

(d)

Options :
1.a
2.b
3.C
4.d

Question Number : 82 Question Id : 7715133962 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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DH-T o (g 4ol &I QU 1 82

Which figure completes the series?

(b)

(d)

Options :
1.a
2.b
3.C
4.d

Question Number : 83 Question Id : 7715133963 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Adda2417

Hgaﬁmﬁ 4 70 TGSl Bl gHRT U SUEH wgst & ®U ¥ i Rakda B

DT W %|quw%ﬁﬁqﬁmﬁﬂﬁqéﬁaﬁmaﬁrﬁfwﬁ

W%,sﬂﬁumaw%aﬁ?a%wwﬁwﬁﬂﬁﬁﬁﬁuﬁf@ﬁﬁq
T 0 & 0l @ gurld R g TR 6 S

A conservation group in the United States is trying to change the long-standing image of hats as
frightening creatures. The group contends that hats are feared and persecuted solely because
they are shy animals that are active only at night. Which of the following, if true, would cast the
most serious doubt on the accuracy of the group's contention?

(a)

(b)

(d)

TGS & o W Wad g o Wi e ®H 36 79 & of © §
T BRU 4 FeA & fou ot fowia & @ ol 1 % g

Bats are steadily losing natural roosting places such as caves and hollow trees and are thus
turning to more developed areas for roosting.

TGS IR Bgl & TG § a4 UG GRU S HEe &7 70 &
o R e qEe o1 § W § @ 2

Bats are the chief consumers of nocturnal insects and thus can help make their hunting
territory more pleasant for humans.

T 7 VI T A 8 7 A T, el W g el A 4
ugel & & § 7 W @

Bats are regarded as frightening creatures not only in the United States but also in Europe,
Africa, and South America.

W W I T ¢ au 6 @ S Ui e |, MR o ST S A W ek
7 g AR S 3

Raccoons and owls are shy and active only at night; yet they are not generally feared and
persecuted.

Options :

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 83 Question Id : 7715133963 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Adda2417

Hgaﬁmﬁ 4 70 TGSl Bl gHRT U SUEH wgst & ®U ¥ i Rakda B

DT W %|quw%ﬁﬁqﬁmﬁﬂﬁqéﬁaﬁmaﬁrﬁfwﬁ

W%,sﬂﬁumaw%aﬁ?a%wwﬁwﬁﬂﬁﬁﬁﬁuﬁf@ﬁﬁq
T 0 & 0l @ gurld R g TR 6 S

A conservation group in the United States is trying to change the long-standing image of hats as
frightening creatures. The group contends that hats are feared and persecuted solely because
they are shy animals that are active only at night. Which of the following, if true, would cast the
most serious doubt on the accuracy of the group's contention?

(a)

(b)

(d)

TGS & o W Wad g o Wi e ®H 36 79 & of © §
T BRU 4 FeA & fou ot fowia & @ ol 1 % g

Bats are steadily losing natural roosting places such as caves and hollow trees and are thus
turning to more developed areas for roosting.

TGS IR Bgl & TG § a4 UG GRU S HEe &7 70 &
o R e qEe o1 § W § @ 2

Bats are the chief consumers of nocturnal insects and thus can help make their hunting
territory more pleasant for humans.

T 7 VI T A 8 7 A T, el W g el A 4
ugel & & § 7 W @

Bats are regarded as frightening creatures not only in the United States but also in Europe,
Africa, and South America.

W W I T ¢ au 6 @ S Ui e |, MR o ST S A W ek
7 g AR S 3

Raccoons and owls are shy and active only at night; yet they are not generally feared and
persecuted.

Options :

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 84 Question Id : 7715133964 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DISTINCTION ¥eg @1 3fdd 3 U a1 Teg &1 T8 B
Choose the word which best expresses the meaning of the word: DISTINCTION

(a)
(b)
(c)
(d)

Diffusion

Disagreement
Different

Degree


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Options :
1.a
2.b
3.c
4.d

Question Number : 84 Question Id : 7715133964 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DISTINCTION ¥eg @1 3fgd Y U a1 Weg FT 70 &Y
Choose the word which best expresses the meaning of the word: DISTINCTION

(a) Diffusion
(b) Disagreement
(c) Different
(d) Degree

Options :
1.a
2.b
3.C
4.d

Question Number : 85 Question Id : 7715133965 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Addal@7

@91 e e @ el 22
Which figure completes the grid?

C D

Options:
1.a
2.b
3.¢
4.d

Question Number : 85 Question Id : 7715133965 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Addal@7

@91 e e @ el 22
Which figure completes the grid?

Options:
1.a
2.b
3.¢
4.d

Question Number : 86 Question Id : 7715133966 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

ffafed fdodd § ¥ U WG AWARE &1 Tia &2 a1 Ui @1 907 &Y

Choose one of the following options that means the opposite of the word; AWARE

{a) Uncertain
(b) lgnorant
(c) Sure

(d) Doubtful

Options :


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

1.a
2.b
3.¢C
4.d

Question Number : 86 Question Id : 7715133966 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

frofafa fioad 4 ¥ U wisg awaARe &1 o cafv ad osg &1 909 &Y

Choose one of the following options that means the opposite of the word; AWARE

{a) Uncertain
(b) lgnorant
(c) Sure

(d) Doubtful

Options :
1.a
2.b
3.C
4.d

Question Number : 87 Question Id : 7715133967 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Secretly is to openly as silently is to

(a) Scarcely

(b) Impolitely
(c) Noisily
(d) Quietly
Options:
1.a

2.b

3.c

4.d

Question Number : 87 Question Id : 7715133967 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

Secretly is to openly as silently is to

(a) Scarcely

(b) Impolitely
(c) Noisily
(d) Quietly
Options :
1.a

2.b

3.c

4.d

Question Number : 88 Question Id : 7715133968 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

-1l T vy fug 2 @ wioraftd &

Which one will replace the question mark?

Options :
1.a
2.b
3.c
4.d

Question Number : 88 Question Id : 7715133968 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

P-4 9= Uy g 2 $i viawfid &

Which one will replace the question mark?

O O
0 (&8 3‘0

Options :
1.a
2.b
3.C
4.d

Question Number : 89 Question Id : 7715133969 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

SR, 1) S T 6 R G R o o SIga Hav B b I gfcio 1 g
X ¢ | TYd® CRa I Wi & fo 3 Rferat H o Jarg e

Firefighters use a halligan to forcibly enter locked doors during fire rescue operations.
Which halligan would require the least effort to forcibly open the door?

o
—f
-
—

@) A
(b) B
) C
(@ D

Options :
1.a
2.b
3.c
4.d

Question Number : 89 Question Id : 7715133969 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

SR, 1) S T 6 R G R o o SIga Hav B b I gfcio 1 g
X ¢ | TYd® CRa I Wi & fo 3 Rferat H o Jarg e

Firefighters use a halligan to forcibly enter locked doors during fire rescue operations.
Which halligan would require the least effort to forcibly open the door?

o
—f
-
—

@) A
(b) B
) C
(@ D

Options :
1.a
2.b
3.c
4.d

Question Number : 90 Question Id : 7715133970 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

bl ! Gaferd a1 1 7 | U g ¥ Jad sl &I HR ool 82

The scale is balanced. What weight is the weight with the question mark?

Options :
1.a
2.b
3.¢
4.d

Question Number : 90 Question Id : 7715133970 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

bl ! Gaferd a1 T 7 | U g ¥ Yo sl I HR ool 82

The scale is balanced. What weight is the weight with the question mark?

Options :
1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.¢C
4.d

Part 11

Question Number : 91 Question Id : 7715133971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T O oF GO Pl Gled §U 0D B od UM B S Wl §, S d f
256256 01 678678 G| Udt org o dem gHRm ... .. &N O g favrs g

A six-digit number is formed by repeating a three- digit number; for example, 256256 or 678678
etc. Any number of this is always exactly divisible by:

(a) 13 Hd/only
(b) 7 HH/only
(c) 1001

(d) 11HF/only

Options :
1.a
2.b
3.c
4.d

Question Number : 91 Question Id : 7715133971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

T dF 9F GO Pl GeAd §U 0D B G UM B S Ol 8, I & fo
25625601 678678 el UHl @fs off T gnen ... .. .. R [ RE faurg g

A six-digit number is formed by repeating a three- digit number; for example, 256256 or 678678
etc. Any number of this is always exactly divisible by:

(a) 13 Hd/only
(b) 7 HH/only
(c) 1001

(d) 11HH/only

Options :
1.a
2.b
3.c
4.d

Question Number : 92 Question Id : 7715133972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dY-/Statements:

EE] EFEE? Flﬁ %g‘Some doctors are fools.
L] E@W B/Some fools are rich.

ﬁlﬁﬂtmonclusions:

(i) EE] giaey @ %?Sﬂme doctors are rich.
(ii) PS {$~‘:| SldeY B/Some rich are doctors

(a) HHA {i}l'\EITEApf %fDnh_.r conclusion (i) follows

(b) HIHE {ii)“{:lﬁpf %fDnI\; conclusion (ii) follows

(c) T (i)dT (ii) Tl &/Either (i) or (i) follows

(d) A8 (i)T (ii) Gt &/Neither (i) nor (i) follows
Options :

1.a

2.b

3.C

4.d

Question Number : 92 Question Id : 7715133972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

hY-/Statements:

PS5 EU'F:E? H}ﬁ &/Some doctors are fools.
P9 W WY @/Some fools are rich.

ﬁlﬁﬁfmonclusions:

(i) EE] EVTEE? @ %’;‘Some doctors are rich.
(ii) gﬁﬂgﬂ gldeT §/Some rich are doctors

(a) HHA {i}l'\':lﬁpf %;’Dnh_.r conclusion (i) follows

(b) HIHE {ii)“{:IEpf %fDnI\_.r conclusion (ii) follows

(c) dT ()T (i) Tal B/Either (i) or (ii) follows

(d) T & ()7 (i) &l &/Neither (i) nor (ii) follows
Options :

1.a

2.b

3.C

4.d

Question Number : 93 Question Id : 7715133973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fofafad fadedl § ¥ fGU Tsg GERMANE T 3 GIH 91 oG 1 907 P

Choose one of the following options which best expresses the meaning of the word; GERMANE

(a) "mﬁﬂﬁfﬂesponsible
(b) diidd/Logical

(c) Tuifdd/Possible
(d) 3fed/Relevant
Options:

1.a

2.b

3.C

4.d

Question Number : 93 Question Id : 7715133973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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fFofafad fadedt # ¥ fGU Weg GERMANE &1 3 G a1 Weg &1 T B

Choose one of the following options which best expresses the meaning of the word; GERMANE

(a) lmﬁﬂ_c[fﬁespmﬁsible
(b) TIE®/Logical

(c) TuTidd/Possible
(d) 3fdd/Relevant
Options :

1.a

2.b

3.c

4.d

Question Number : 94 Question Id : 7715133974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U 3fdd fdehed T 907 B o o AT & Q0 dam

Select a suitable option that would complete the figure matrix

2| @)
~ |29

N
() >< (b) \

< >{1'
8

L
e

Options :
1.a
2.b
3.c
4.d

Question Number : 94 Question Id : 7715133974 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap

Addai247

Correct Marks : 2 Wrong Marks : 0
U 3fed fdebed @1 90 & of o Afcaq & g adm

Select a suitable option that would complete the figure matrix

0

=

W

<>

=
<
o

ot

O

O

S

(a) ><

Options :
1.a
2.b
3.c
4.d

(b)

(d)

GET IT ON
Google Play

Question Number : 95 Question Id : 7715133975 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

MG LT W+, MPIU- 8§ NI U xE, P T8 14N10L42P2MS

= ...

If L stands for +, M stands for —, N stands for x, P stands for +, then 14 N 10 L 42P2 M § =?

(a) 153
(b) 216
(c) 248
(d) 251

Options :
1.a
2.b
3.c


https://applink.adda247.com/d/XhqWf9lSap

Adda

4.d

24

GET IT ON
Google Play

Question Number : 95 Question Id : 7715133975 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

e LS+, MPfIU- 8, NS RU X8, P& AU 28 dl 14N10L42P2MS

= .. .3

If L stands for +, M stands for —, N stands for x, P stands for +, then 14 N10L42P2M §=?

(a)
(b)
(c]
(d)

153
216
248
251

Options:

1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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